a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

=
o
W

£
=
<
°
5

102

10

13 o

1.055— * l ..... g

0.95F-- -- -4.EI|L.:

P N € I A e A e IR

1 10

2
Sum of tralc?< p, (GeVv)

10%k}:

10%E

10

3
E

1.05

s

0.95

°
o

LALLM RRRY

B

SH?m of track p_ (Ge\})02

—=— SoftQCD_default
—— SoftQCD_ckfPixelLessStep
g
10° =
>
2
5
10°E
10k
J.-J.;- 9
L0sf 8
i
095 -
0.oF —EIHIE ;
1 10 Sum of tralc(l)< p, (GeV)
3 -~
10° = =
: =
N
2L
5
10
J..J.:- N | o
1.055— = g
3 A
098+ . { gL
1 10

2
Sum of tralc(l)< p, (GeVv)

10°

10?

s
TTTT T

10?

10°E

I 2
SH?m of track p_ (Ge\})O

B
T T T T

2
10 Sum of tral(:?<p (GeV)
T




	Contents
	Page 1


